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® 10MHz #y ik
® ZEMFEALR K : <X5. Oppb
® VA&t 1.5E-13@1s
® R, kAR B
e AR BIR RSB M & 14
TEHEE +12VDC VCC+5%, ZUE<50mV
BRI BENER <350mA P4 E] <60s, +25°C
RSER <150mA 4 E] <180s, +25°C
FRARIR 10.000MHz
KR 1E5%5% (sinewave)
oo R ESINE 9+2dBm PE#7% 50Q, Load+5%
TR < -45dBc PE#7T 50Q, Load+5%
FE <-80dBc
A, +25+3°C,
W6 5 1R EHE <+0.1ppm
EFC=+2.5V
i E IR E E <+5.0ppb -20—+70°C Ref+25°C
BENRRER <+1.0ppb VCC+5%
MEMEREE <+1.0ppb Load+5%
HHMEREE <1.5E-13@1s Fl{eFIZ, WA E>4h
=< +0.3ppb/day
R 1% 8 A B8] >48h
WMERRBREE <+30ppb/year
1Hz <-120dBc/Hz
10Hz =< -145dBc/Hz
N 100Hz <-155dBc/Hz 17 B A jE) > 15min
1KHz = -159dBc/Hz
= 10KHz <-160dBc/Hz
SRR PRI T RE RN ESEE 0—5V fl N R +2.5V
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(EFC) SRS =+0.25ppm
EIIAR IR
SME <10%
LPNEET =100KQ
THEEE -20°C—+70°C
IRE
FiERE -40°C—+85°C
SEBE HEHEE / I
:‘\ 71‘}‘:3)(_‘1-:
SMERSE: 36x27x15.6mm (AZ+0.2mm), 0 TE
254 4.5Min -
T EE X
®©3 4@ — 1#: BEREEF|IIEE (EFC)
o e e ) 05
o 2 g B2 (NC)
®2 Bottom view N —
o 3#: HFEHE (VCO)
o e e b ;
! ®1 5e b 4 EEHH (OUT)
oq( S#: $EH (GND)
- H ©

H=15mm, JEZEZF=E 05mm, E5E 15.6mm

[E+2.5V,

#E RFm (EFC), #ih, B MEE OVE, SMRERE, EASUNENSSNFOE
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1E-11
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Sigma(Tau)

1.32E-13
1.18E-13
1.10E-13
1.08E-13
1.13E-13
1.49E-13
2.24E-13
3.86E-13
4.41E-13
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